
EXERCICES MATHS CM2 – Les longueurs – Correction.    Toupty.com

Fiche n° 248

54 m = 540 dm

9 m = 90 dm

30 m = 3000 cm

64 dam = 640000 mm

98 km = 9800000 cm

43 km = 43000000 mm

53 dam = 5300 dm

55 hm = 5500000 mm

82 hm = 82000 dm

41 dam = 410000 mm

8200000 mm = 82 hm

6800000 m = 68000 hm

740000 cm = 740 dam

600000 cm = 600 dam

300000 cm = 30 hm

8300000 dm = 8300 hm

1300000 m = 13000 hm

1000000 m = 10000 hm

4900000 m = 49000 hm

30000000 mm = 30 km

80 m  et 82 mm = 80082 mm

7 hm  et 39 cm = 70039 cm

23 m  et 92 dm = 322 dm

52 hm  et 61 dm = 52061 dm

2 m  et 36 cm = 236 cm

76 hm  et 50 dm = 76050 dm

61 km  et 64 dm = 610064 dm

12 km  et 27 cm = 1200027 cm

55 hm  et 68 mm = 5500068 mm

97 hm  et 56 mm = 9700056 mm

Recopie et convertis dans l'unité :

Même exercice :

Recopie et convertis dans l'unité :
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